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INSTRUCTIONS TO CANDIDATES
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For each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice and shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.

(60 marks)

1 Which one of the following is the function of a leaf on a plant?

(1) Makes food.

(2) Takes in water.

(3) Takes in mineral salts.

(4) Holds the plant upright.

Which one of the following objects can be bent easily without breaking?

(1)

A sheet of glass

(2) A plastic spoon

&)

A cotton towel

Wi IN'

(4} A wooden ruler




3

Which one of the following shows the correct order when food moves through some parts of
the digestive system?

(1) é_\Jj > >
@ >
>

D

: 7
o & - ) D

I\
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4 Simon brought a new badminton racket fo school. His friends made the following comments
about his racket.

Badminton
racket

A The badminton racket is a system because it has parts that work
together fo perform a function.

B The badminton racket is a system because it is used for playing.
C The badminton racket is not a system as it is a non-living thing.
D The handle of ihe racket is not part of the system as the other parts are

more important.

Which of the commeni(s) isfare cormrect?
(1) Aenly

{2) AandB only

(3) CandDonly

{(4) B,CandDonly ‘




5 Study the flow chart below carefully.

Start

Can it make its
own food?

Does it have
feathers? -~

What cottld K be?

(1) Bird

{2) Plant

(3) Insect

(4) Mammal

6 Which of the following parts below form part of the pfant system?

A pot -
B soil
C roois
D flower

{1) Band C onlv
(2} Cand D only
(3) A.Band C only

{4) A, Cand D only

Xl



Which one of the following properties is true for both air and a pencii?
(1} They take up space.

(2) They have definite shapes.

(3) They have definite volumes.

(4) They have no deﬁnit_e mass.

The diagram below shows the life cycle of an animal.

€99

nymph

adult <

Which one of the following animals is likely to have the life cycle as shown above?
(1) Frog

{2) Chicken

(3) Mezalworm

{4) Cockroach




9

10

7

Carol wanted to measure the mass of 150 mi of milk. Which of the foliowing items should she

use?
A Beaker
B String
C Fixed weights
D l.ever Balance
E Measuring Cylinder

{1y A, Band C only
(2} A, CandD only
(3) B,CandE only

(4) B,D and E only

Haron classified some materials according to their magnetic characteristics.

Magnetic materials Non-magnetic materiais
Steel Gold
Copper Rubber
Nickel Aluminium
" fron Wood

Which one of the following materials did he classify incorrectly?

(1) Gold
(2) Steet
(3) Copper

{(4Y Rubber

nq
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Which one of the following statements is true for the pupa stage in any life cycle?

4y
@
3)
)

The pupa does not eat.
The pupa lives on water only.
The pupa moults severat imes.

The pupa usually stops growing completely.

The diagrams below show the life cycles of a cockroach and a mosquito.

Based on the cbservation of the diagfams only, which of the following statements are correct?

Both animals lay their eggs on land.
The adults of the animals have wings.

The adults of the animals resemble their young.

o O W =

There are 3 stages in a life cycle of a cockroach, but there are 4 stages
in the Iife cycle of a mosquito.

{1} AandC only

(2} BandD only

(3} A, BandC only

) B, CandD only
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Asturnp.of -plasticine: was:drdpped: fromra height of ten metres: Whieh: of the fo!iowmg will
ch ange whenit.hits” the‘greund‘?‘

A Miss '6fiha‘§té"s'_tieiﬁé-
B Shape of the plasticine
€ ' \:Iolume:of.:t'h’e plasticing
D Surface area of the plasticine
(1Y AandB only
(?) BandDonly
(3) A:, B and C only

(4) A BandDonly

Each of the coniainers below. contains 40 cny ? of water. Objects A, B: and C are put into the
container and the water level ross WhHats thevollime of ‘objéct ¢ 6?5

| 100cm3

__:;1

80cm?

75eme

4Qcm?

:Hf,l}“
:

:'WE
T

)
P et

7—1251.

,_.‘._,u.
Container W Conmmer X Com‘amer Y Can’ctmer* Z

(1) 10em®
(2) 15cm’
(3) 20 cm®

(4) 25cm’

21
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Study. thietwo diggramis’ below'rThéys‘hogy;
différent weather conditions. ‘The Alimber of days the an

theslifé cycles;

the: carpenter ant. under two
ends.at each: stage is;shown in the

bréickets.’
Pupa Adult ant. | g Adult ant’
(up to'7 N | (up to 7
A g : A'- -
b
Larva Egg , Larva:
(24 days) (20 days) (120 days)

Life Cycle A - warm weather Life Cycle B — cold weather

Based on the diagram above only, which of tfie fplfoWing statements are true?

A 'The-iif?'.;sy@lﬁé};isIdn;ejéj[«-in,galgérz._iafeaihbr.
B The adult carpenter ant lives longer in warm weather.
C -The adult carpenter ant grows bigger in cold weather.
D The -nﬁf‘rib"é?.éf stagesin b_eth life cycles is_ the same.
(1)  AandBonly
(2) Aand D only
@) . BandConly
4 B a‘;ﬁd D only
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16 Yvonne wrote down some statements about what she leamt about matter. Based on what she
wrote, which one of the following groups of statements is definitely frue about a solid and a

liquid?
Solid Liquid
{1) | Cannot be compressed Can be compressed
(2} | Floats on water Does not float on water

Has a definite shape unless a force

(3) is applied

(4) | Does not have a definite shape Has a definite shape

Takes the shape of the container

17 Tracy places a metal spﬁon in a cup of hot lemon tea.

metal spoon

cup

hot lemon tea

The spoon becomes hotter after a while. Which one of the following explains this?
{1) The cup loses heat'to the hot lemon tea.

2 The spoon loses heat to the hot iemon tea.

(3)  The spoon gains heat from the hot lemon tea.

{4) The hot lemon tea gains heat from the spoon.

[23
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The diagram shows a bar magnet hun

come to rest?

(1)
(2
(3)
(4)

42

g such that it could tum freely. in which direction will it

retort stand

North-South
South-East
East-West

North-West
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Clement placed a U-shaped magnet under an exercise book and an iron cube on the exercise
book. When he moved the magnet under the exercise book to one side, the iron cube on the
exercise book moved in the same direction as the magnet. However, when he repeated the
experiment using the same iron cube and three similar exercise books, the iron cube did not
move together with the magnet.

. iron
iron - cube
I — cube
f T i exercise book - U - . exercise book
U-shaped magnet t4-shaped magnet

Which one of the following conclusions is true?
{1) The iron cube is not made of a magnetic material.
(2) Magnetic attraction cannot pass through paper.

{3) The magnetic atiraction by the iron cube is strong enough to pass through one
exercise book.

4 The magnetic aﬂfacﬁon by the U-shaped magnet is not strong enough to pass through
three exercise books.

Using the stroking method, which one of the following rods can be magnetized by a bar
magnet?

(1) Steel rod
{2} Plastic rod
(3) Rubber rod

(4}~ Wooder rod

2
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Vanessa wanted to find out whether the number of coils of wire affects the m

of an electromagnet.

1

14

e

Battery

i

15 coils of wire

Iron core

vvvvvvvvvvvv

0 coils of wire.

ARREA

©

agnetic sfrength

135 coils of wire

RN T U

Setup B

11111111

Whicﬂ two of the above set-ups should Vanessa use so that she can conduct a fair test?

(1
4
3
(4)

Set-up A and Set-up B
Set-up B and Set-up C
Set-up C and Set-up D

Setup A and Set-up D
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The diagram below shows five ring magnets looped through a wooden rod.

South Pole

— I §

What are the poles labeled K, L and M?

K. L M
(H North South -7 Noith
(2) North Souih South
3) South North South
4 South North | North

Raju boiled some water in the pot shown below.

plastic handie

metal pot

He is able to hold the pot of boiling water using the plastic handles.
This is because plastic is &

(1) aood conductor of heat
(2) poo- conductor of heat
(3) fexible material

(4) iight materia:

127
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24 The diagram below shows the shadows of a vertical pole cast at different times on a sunny
day. Arrange them in order of time beginning with the earliest. The timing when the shadow
was casted under B has been given.

A B C D

() B,A,DC
) C,B,D.A
(3 DABC

(4) C,B,AD
25 Study the diagram shown below carefully.

tiaht 6t rectangular block
torchlight ot @ fixed inguldr K

sosition N
pos -
/
= g
h |
g
D

L4 ot * *
A E - C E

To obtain the smallest shadow, which of the following positions must be used?

Position of Iight source Position of rectangular block
(1) A | D
2) A E
3 B D
(4) B E
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A plastic ruler is attached to a copper wire as shown in the diagram below. A candle is lighted
under the copper wire.

plastic

ruler = copper wire

What would be observed about the plastic ruler after one minute?
{1) The plastic ruler will break.

(2) The plastic ruter will become longer.

(3) The plastic ruler will ben;i less towards the right.

{4) The plastic ruler will bend more towards the right.

Which of the following processes does not require heat?
A Frying a fish
B Forming a shadow
C Sweeping the floor
D

Ironing a pair of shoris

(i) A and B only
(23 B and C only
(3} C and D only

{4} A and Donly

D—T
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Gary has two cups of water of the same volume as shown below.

80°C 30°C
Cup X CupY

He poured the water from Cup Y into Cup X. What would Ilkely be the new temperature of the
water in cup X? _ :

(1) 30°C
() 50°C
(3) 80°C
@)  100°C

During hot and sunny days, Eisie observes that the telephone wire hangs foosely at B, as
shown in the diagram below.

— —

*A
*C

*D
telephone wire

Wooden poles

Which position. 4, B, C or D, would the telephone wire be at during cold and rainy days?

1y A
2) B ‘
3 cC

(< D~
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30 Three square objects af positions P, Q and.R-were placed in a siraight line. Light was shone
as shown below to obtain & shadow on the sereen.

screen
torch
table
wooden
P
block — Q R /
L il
The {ablé below describes the'objecis:
Object- | Size of object (cm’) opaque transiucent transparent
P 49 '
Q 16
R . 25

Which one of the foilowiﬁg-shadoﬁvs» is most likely to be corréct?

Legend
Light shadow B
Dark shadow
m (2}
(3) @
- End of Booklet A -

12
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For questions 31 to 44, write your answess in the spaces provided in this booklet.

The number of marks available is shown in the brackets | ] at the end of each question or part
question. (40 marks})

31 The diagram below shows the human digestive system.

(a)  Using 1,2, 3 and 4, identify the part where

(i) Absorption of digested food {akes place: i
(it There is no digestion: : 1]
(b}  Name the substance thai digests pan of the food at part 1. it

(Go on to the next page,

Score

123



32 Study the diagram below carefully. Fill in each of the blanks with a suitable word.

caterpillar

{a) The caterpillar needs food, water and to survive. 1

{b) The caterpillar eats leaves and becomes bigger after some time. This shows

that it can . ' 1]

33 The diagram below shows the stages in the life cycle of a butterfly.

P

Adult _ : ‘Larva

Q

Choose the correct words from the box i0 answer the questions below.

caterpiliar €gg pupa nympﬁ

Name the two stages P and Q

P . - 1]

Q: )

{Go on fo the next page)

Score




34 Study the flowchart below carefully.

| Start |

v . —
: 1 Yes Does it float on
|s it transparent? l water?
No
No
> Yes
Is it hard™?

No

Yes

Using the given helping words as shown below, identify the objects K, L, M and N correctly.

Each word can only be used once. i2]
Brick ‘Eraser Glass rod Plastic straw
K
L
M-
(Go on to the next page)

Score

134
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lLynette conducted several experiments with substancesx Y and Z. She recorded her

observations in the table below.

Properties Substance X | Substance Y | Substance 2
Can it be compressed? No Yes No
Does it have a definite shape? No No Yes
Does it have a definite velume? Yes No Yes

(a) Which substance correctly describes sugar syrup?

[

(b) Which state of matter eould substances X, Y and Z be in?

X:

Y:

(Go on to the next page)

(3]

Score

e
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36 Zachary filled up Container A with 350 ml of water as shown in the diagram below. He then
gently lowered a metal cube fo the bottom of the container.

Metal cube
(64 cm?)

350 mi

o b n b o T iy o bt e e — )
il e e e e i

T T
Il11FI‘||3|-|

Coniainer & —
tain - — beaker

{a) Will the amount of water that flowed out be more than, less than or equal to the volume
of the cube? 1

{b) Explain why water flowed out of container A when the metal cube sank in completely.

i

{c) Zsachary was told to measure the volume of water that flowed out of container A
accurately. Which other apparatus can he use to replace the beaker? {1

(Go on to the next page)

Score

137
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37 Julian conducted an experiment to determine if the amount of fertilizer given will increase the
height of tomato plants over two weeks.

(a) In the table below, put a tick for the variable/s that need to be constant throughout the
experiment. 2]
Vatiables in the experiment Must the variable be constant?
Type of tomato plants used

Amount of fertilizers used
Location where the plants were kept
Amount of water each ptant was given daily

(b) Julian recorded the results of the experiment and concluded that the best amount of
fertilizer for the plant to grow tallest is 45 grams. In the bar graph below, draw out the
missing bar to represent the height of the tomato plant when 35 grams of feriilizer were
added. Use a pencil and a ruler to draw the shaded bar required. (1]

Height of plant (cm)
70

60

50

40

30

20

35g 45 g 55g

Amount of fertilizer (g}

{Go on to the next page?

)

Score




38 Jane sets up an experiment to create an electromagnet as shown in the diagram below.

battery

switch

—-—“‘.ﬁ ironnail

iron
filings %ﬂ

(a) With a working battery and an iren nail as shown above, what should Jane do in order

to create an electromagnet? 11
(b) State two ways to increase the magnetic strength of the electromagnet. [2]
M
(2)
{c) State one use of electromagnets. 1]
{Go on to the next page}

Score




39 Raymond placed some steel paper clips near a horseshoe magnet at three different positions,
X, Y, and Z of the magnet. The resuits are shown in the bar graph below.

Number of paper
clips attracted

12 4

10 -

IR Ry R Sl

Position X Position Y Position Z

{a) Based on the results above, label poéition X, Y and Z on the horseshoe magnet in the
diagram below. [l

(i)

(b) Based on the results obtained as shown in the graph above, what does this experiment
tell you about the pufl of the magnet? [

(c)  State one way to demagnetize the horseshee magnet.

{Gc on to the next page)

v

!

! . .

| Score N A
S B B 3',;'
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40 Bruce used an instrument to measure the temperature of water in a basin.

Instrument

{a) What is the instrument called? 11
(b) What is the recorded temperature of the water in the basin? ]
C

(Go on fo the next page)r

Score

124
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41 Linda secured four bar magnets onto a table Zmd made a track using two glass rods. Linda
placed the track in the centre of the four bar magnets and also placed a rod magnet on the
track as shown befow.

Bar magnet Bar magnet

R‘;@mag net

© . Track made of
glass rods

-
A7
&

Bar magnet -

(i)

6
Then, she observed that the mig.—magnet moved back and forth for a while at the beginning of
the experiment before finally coming to a stop in the middle of the track.

(2) Label the poles of the bar magnets in the boxes (i) and (i) provided above. 1]

{b} What is the property of the magnets that caused the rod magnet to move back and
forth at the beginning of the exgeriment? [l

{Go on to the next page}

Z

1 score. | [
]
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42 A flask in the set-up below is heated as shown in the diagram.

glass tube

ink drop
retort
stand

conical flask

flame

.

Atfter heat was applied to the flask, it was observed that the ink drop dropped a little and then

slowly rose. Explain why.

(Go on to the next page)

Score

2

1z
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43 Noah wanted to find out how fast wax balls will melt when they were placed at different points
along a heated metal rod.

The graph below shows the time taken for the five identical wax balis to fall off the heated
metal rod.

Time faken forA
wax to fall

i

A B

» Wax
) balls

{a) With reference to the graph above, indicate the positions of the wax balls before they
fall off. Wiite the letters B, C, D and E in the boxes provided. The first one, Wax ball A

has been done for you. [2]

Wax ball
Metal rod

/
S B R R
A

Candle

{(b)  Explain why the wax balls dropped off in thic arder. 2]

{Go onto the next page}

Score
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Some crushed ice was taken out of the freezer and left in the open, as shown in the diagram
below. The temperature reading of the set-up was recorded in the table below for every two

minutes afterwards.

44

begker

Time (min) | Temperature measured (°C)
0 4]
2 4]
4 0
6 0
8 2
10 5
12 10
14 23
16 28
18 28

Based on the table above,
minute and the

(a)  Theincrease in temperature was highest between the

-y
—
Sl

minute of the experiment.

b Whét was the change in state from 0 to the 6™ minute? Explain how that happened. i2]
) P

Basec on given results in the table above, what is the likely temperature of the surrounding i
the open?

{c) ol

-End of Booklet B -

Jig (| Score
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EXAM PAPER 2012

SCHOOL : ACS
SUBJECT : PRIMARY 4 SCIENCE

TERM. : SA2

1 3 3 1 1 1 4 2 3

QL}IQ2)03 | Q41Q510Q61 Q7] Q81 0Q9!0Q10/Q11/Q12/0Q13]Q14]|Q15;Q16]/Q17
2 1 2 3

1

Q181Q19]0Q20[G21 ] 022 (0231024 [ Q25| Q261 Q271 Q28] Q29 { Q30
4 4 2 | 2

1 3 12 ]2 2 {3 1 4
31)a)i)3 )4 b)Saliva
32)a)air b)grow

33)P: egg Q: pupa

34)K: Eraser L:Brick M: Glass rod N: Plastic straw
35)a)Substance X b)X: Liquid Y: Gas Z: Solid
36)a)Equal.

b)The medal cube occupies space so when it sank water has do flow out.
c)A measuring cylinder.

37)a)Type of tomato plants used
Location where the plants were kept
Amount of water each plant was given daily
b)

Page lto?2 page 1

147 end.


Answer Key


38)a)Close the switkch.
b)1)Increase the number of coils.
2)Increase the number of batteries.
c)Door stopper.

39)a))Z )X i)Y
b)The pull of the magnet is strongest at its poles.
c)Heat it.

40)a)Themometer.
b)24°C.

41)a)i)South ii)South
b)Like poles repel.

42)The heat from the flame reaches the conical flask first, causing it to gain
heat and expand slightly, hence the ink drops slightly. After the heat reaches
the air in the flask, the air in the flask gained heat and expanded, causing the
ink do rise.

43)a)C A " DEB :

b)As heat travels from a hotter region do.colder region, heat from the flame
first reaches wax A which is the nearest, causing it to melt and fall foliowed by
the next nearest wax, Cthem D, E, B.

44)a)12 14 . ,

b)The change in state was from solid to liquid. The ice gained heat from the
surrounding and meited,

Page 2
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